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RC Circuit

By using voltage divider rule:
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&2 8db

A 20 log 10(A)

1 = 0db
10 => 20db
100 => 40db
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3db frequency:
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Frequency response

|=| : |=’ g 2% - _an(RCw)
1+ jRCo| \1+RC'o’ f

A
I

=

0

3-6 -3,-20,-40dB JE=

3-7 RFIE



—~ RCERREHE T - 275(2](3]
® 17 RC EEEEAN NIE([E 3-6)

AC EHER:

3-8 RC i

Place=>Component—>Sources—>SIGNAL_VOLTAGE_SOURCES—>AC_VOLAGE

~
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Simulate>Analyses>AC Analysis (F] 1k -- > 10MHZ F5§)

Select a Component -
Database: Component: Symbol (ANST)
AC_VOLTAGE

[Master Database V] [E] Close

Group: AC_VOLTAGE

| # Sources v | | AM_vOLTAGE

Family: BIPOLAR_VOLTAGE Detail report
Bl <21 families> CHIRP_VOLTAGE View model
POWER_SOURCES CLOCK_VOLTAGE
@ SIGNAL_VOLTAGE_SOUI DC_INTERACTIVE_VOLTAGE [—]
(@) SIGNAL_CURRENT_SOU| | EXPONENTIAL_VOLTAGE Help
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ACAnalysic WIS ST S & & &5 &9 =
Frequency parameters l Output | Analysis options I Summary|
Start frequency (FSTART): | 1000 Hz N Reset to default l
Stop frequency (FSTOP): 10 MHz v
Sweep type: [Decade v I
Number of points per decade: | 100
Vertical scale: [Decibel v ]




Add V(vin), V(vout) > [iE{% Simulate

r N
AC Analysis lﬁﬂl
Frequency parameters | Output | Analysis options Summary
Variables in circuit: Selected variables for analysis:
| Al variables v |Al variables |
3 |
> ‘ Add >
< | Remove 1<
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V(vin)

VvV (vout)

1.0000k
0.0000
1.5878k
0.0000
587.7749
0.0000
0.0000
1.7013m

V(vin)

1.0000k
-1.4451
1.5878k
-3.0001
587.7749
-1.5550
—-2.6456m
1.7013m

V (vout)

NTE y2 o HAE R -44.9324 (JE)

1.0000k
0.0000
1.5878k
.0000
.8000
.0000
.0000
1.7013m
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-44.9324
587.8000
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-21.7600m
1.7013m
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Irstruments »
Interactive simulation settings

P nimoe ity AR

Mixed-mode simulation settings i s
DC operating point_. i
AC analysis..
1 Vpk Simulation error og/audit trall Single freguency AC analysis..
LSTBAME  SPICE command fine interface
Eourier analysis_
Load simulation settings— Noise analysis..
Save “"“'W sqﬁngs- Ngise figure analysis..
Automatic fault option... Distortion analysis..
= o s DL sweep..
Dynamic probe properties R
Reverse probe direction Sensitivity..
z Barameter sweep..
Clear instrument data Temperature sweep..
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~ e - Tgensfer funct
Worst case..
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Batched analysis..
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Stop analysis
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Transient Analysis ’ - . -

Analysis parameters | Output | Analysis options I Summary|

Initial conditions

Reset to default
|Automatically determine inital conditions -] :
Parameters
Start time (TSTART): 0 s
End time (TSTOP): 0.005 s

Maximum time step settings (TMAX)

(@) Minimum number of time points 1000

3-9-12

10



Transient Analysis . ' [

Analysis parameters | Output | Analysis options l Summary

Variables in circuit: Selected variables for analysis:

[
1AI| variables A | All variables 2

1\
V(vout)

>‘ Add ‘>

< ‘ Remove ‘ <

‘ Add expression... }
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V(wout)

Ay = ™ 4 a

3.3087m
511.8720m

3.383Tm

—>707.7950m

75.0000p

195.59230m

2.68123k
13.3333k
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JEHH =T=1/1.5878k = 1 /(1.5878 * 1000)
MEEFEFE = 75 * 10°/T * 360

= 75%*10°* 1.5878 * 1000 * 360

= 75%*103*1.5878 * 360

= 75*1.5878 * 360 /1000 =

= 42.8706 (KJ[AEFA 45 [ - HirZHRE Vin e KME B
0.9997617v - i AR+2 1v)
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